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Answer anY five questions

All questiont .::l equal marks

1. Solve the follorving pro-biern by Sirrpiex method

Vrrirnize Z-3x1 +2x;
' rntssrrbject to tlle collslra

2r1-2xr<40
\r +\-<'4
2xr * 3x:5 60

and xr, x: ) 0

2. Solve the follorvrir-rg transportation prol'rlem to miniurize the
the

Max. Marks: 75

n5l

cost. obtainins.ll]:
.ilr solutttltl. I l)l

initial bas

total

f'eacihle sol ot1 sirrr: \'\M tnetlttr,l Fittd,tlte opttthttttt

FI F2 F3 F4 Ava ab le

W1 1 9 J 2 6

W2 4 4 J 5 4

W3 6 4 5 8 20

Requirement ll 9 72 8

I-iuel the sequeuce that minirrrizes tlle total elapsed tirre (in hours) reclrtired to cotrlplete

ir,rnliii";lti* i"ot on tuIO machirres \4,arrrj \4. in the order M, \4, ,---.-----------,ollow tng
5 6

.lob

M (-[irre in hours)

Nl^ ('f inre in hours)

I 2 3 4

12 ) 2 9 ll
3

10 o 6 J 1

8

,\lso l-1ncl tl-ie total elapsed time anci iclle tirles oleach maclrine' I I 5]

-+. A N{achine o\\lter finds frortl his pilst recorcls that the t'naintetratrce costs per 1'ear o1'a

tnaclrine r'r'hose purchase price is Rs 8000 are as giverl belorv:

Deterrnine at rvhich tirlre it is profitable to replace the tnachine'

Resale Price.
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